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1/3  Since the water pressure increased at a constant rate, the table describes a linear relationship.

Moreover, the pressure around Manco when he was 30 meters deep corresponds to the case
where the depth is 30.

2/3  The table of values shows that for each increase of 4 meters in depth, the pressure increases
by 0.4 atmospheres.

Depth (meters) ~ Pressure (atmospheres)

14 24
4 0.4
518 284>
ey <04
22 32¢>

Let's extend the table to get to a depth of 30 meters.

Depth (meters) ~ Pressure (atmospheres)

2 32
4 04
<526 364>
4 04
<330 404>

3/3 | In conclusion, the pressure around Manco when he was 30 meters deep was 4 atmospheres.
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‘The ground floor of a tower has a very high ceiling, and the residential floors above it each have a constant,
smaller, height.

‘The table compares the floor number and the height of its ceiling above the ground (in meters). The ground
flooris floor 0, and floors 1 and up are the residential floors.

Floor  Height (meters above ground)

14 50.8
21 732
28 95.6

What is the height of the ground floor?

meters
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1/3  Since the height of the residential floors is constant, the table describes a linear relationshi

Moreover, the height of the ground floor corresponds to the height of floor number 0.

2/3  The table of values shows that for each increase of 7 in floor number, the height increases by
22.4 meters.

Floor  Height (meters above ground)

14 508
+ N
<yol T2
+ 24

<528 956 ¢
Let's extend the table backwards to get to floor number 0.

Floor  Height (meters above ground)
14 508

-1 —(22.4)
;'; 7 284 é—"

- ~(224)
<50 6.0 <

3/3 | In conclusion, the height of the ground floor is 6 meters.
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The price of a climbing trip to Mount Kilimanjaro includes an initial fee plus a constant fee per meter.

‘The table compares the total distance of a trip (in meters) and the price of the trip (in dollars).

Distance (meters)  Price (dollars)

70 1141
100 118
130 121.90

What is the additional fee for each meter climbed?
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Since the additional fee per meter climbed is constant, the table describes a linear relationship.

Moreover, the rate of change of this relationship corresponds to the additional fee per meter
climbed.

‘The table of values shows that for each increase of 30 meters in Distance, Price increases by
$3.90. The additional fee per meter climbed is the ratio of those corresponding differences:

APrice 3.9

ADistance 30 013

In conclusion, the additional fee per meter climbed is $0.13.
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Manco went scuba diving. As he dove deeper, the water pressure around him increased at a constant rate.

‘The table compares Manco's depth (in meters) and the water pressure around him (in atmospheres).

Depth (meters) ~ Pressure (atmospheres)

14 24
18 28
22 32

What was the pressure around Manco when he was 30 meters deep?

atmospheres




